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1 2 3 4 5

1 |Hesiig Ud HRIRM Rt X yrews!  [149 0.0544
2 (D) Rt ¥ Hrews! 158 0.0221
3[R 7 GHT RERSES yredst 159 0.0045
4 (D) Rt ¥ Hrews! 160 0.0642
5 [ARMURE U3 URAmel Rt ¥ Yrews! |16 0.0419
6 [Tl 915 Udl IoRH RERSES Yyreds!  [162 0.1157
7 |[ARTURE 97 Ukl Rt ¥ yrews! 163 0.084
8 |(RDI) Rt ¥ Hrews! 164 0.0630
9 [P Rt Y HeEs!  [165 0.0210
10 [RTSTRTH YA dhed RERSES Yredst 166 0.136
11 [JISIRMH UF $hed Rt ¥ yredst  [167 0.0367
12 |(RMHA) Rt Hrews! 168 0.0210
13 |9, A 97 gRRI8 Ryt 4 Hrews! 171 0.1542
14 |(RMHA) Ryt 9= HreEs!  [172 0.0210
15 |(JTP) Ryt 9= Hrews! 173 0.0420
16 |PpIpRig J7 ARG Ryt 4 Hrews! 174 0.366
17 | ®) Ryt 9= HreEs!  [175 0.0210
18 [Hp,IqH=I 7 TdeRM Rt ¥R yredst  [176 0.4490
19 |9 A 97 sRRI8 Ryt 4 Hrews! 177 0.2820
20 [JISIRM U ded Ryt 4 Hrews! 178 05120
2 |(rH) Ryt 9= Hrews! 179 0.0100
22 |THTHRIE OF X1 Ryt 4 Hrews! 180 0.2930
23 |(ITPT) Ryt 9= Hrews!  [181 0.0100
24 |y g T giara Ryt ¥ Hiedst  [182/1 0.2090
25 |YaRTH Jas1g O IHUTS Ryt Hiedst  [182/2 0.2190
26 |TIRM™ UF HRIRMH Ryt ex yrews! 183 0.2510
27 | (D) A AR yreds! (184 0.0840
28 |dRUTARIE T 3IcRI™E Ryt 9= Hrews! 185 0.3660
29 [T 3 grvdlq R ¥ex yeas!  |186 0.1150
30 [HTdTG- O3 gXUdIG Rt IR Hrews!  [187 0.2820
31 |pIpRig J7 YdIsg Rt Y Hrews! 188 0.3240
32 |(APH) Rt Y Hrews! 189 0.0870
33 [Hh, TR O [deIR™ Rt ¥R yredst 190 0.027
34 |gMid—< U dIdeq Ryt 4ex Hiedst  [191/1 0.0162
35 |gXMid—< U dIcreq Ryt 4ex Hiedst  [191/2
36 [ISIRTH UF dhad Rict I3 Hiedst (192 0.012
37 |9, g1 U3 dTcide Ryt 4ex HIedst  [201 0.033
38 SRIG PR TF BlIbHNIG dFR Rt 9 HIeEs!  [202/1 0.0188
39 et ge= yewst  [202/2
40 3IRRIE AR U7 g HRIG dIFR R 9 yrews!  [206/1 0.181
41 T ge= Hewst  [206/2
42 |[HaR™ Jaord O IO RERSES Hrewst (207 0.125
43 |[HaR™ JaoT O IFIUTE RERSES yrews!  [208/1 0.262
44 | 3FRRYE IR GF gl HRTE R Ryt ¥ yreds!  [208/2 0.261
45 | (RMFDIT) Ryt Y Hrewst (209 0.0310
46 |[HIR™H JaST O YT RERSES Hrewst (210 052




47 | 3MRIYE AR A Bl HRIE diFR et g yewsr 211 0.063
48 |3MRING AR A BlIhHRIE diFR et gex yewsr 212 0.125
49 |HaRM™ 19 G IHUT et gex yewsr (213 0.46

50 |(RMEI) T AR ycds!  [214 0.2300
51 |(RME) T AR yredst  [215 0.4682
52 | 3FRIE dIFR G gl HNIG dIFR et g yewsr (216 0.23

53 | 3FRIE dIFR G BTihHNIG dIFR et g yewsr (217 0.562
54 | 3FRIAE dIFR G gl HNIG dIFR et gex yewsr (218 0.0173
55 |(RMED) T AR Yredst (219 0.0286
56 | QIR T 3T Ryt Hex Hlews! 254 0.236
57 |dTeree 9 YR Ryct Hex HIedst |25 0.0482
58 |(RMEDI) T AR yreds!  [256 0.091
59 | QTR T 38 Ryt §ex HleEs! 258 0.401
60 |GTARTH T 3T Ryct 4ex HleEs! 259 0.82

61 [gHdRMI U fguei= I Ryct 4ex yrews! 260/ 0.709
62 (TP H) Rt 9 HIe@st (26072 0.0210
63 |SI. @. TN G GRIROT TAT Ryt §ex HIems!  [260/3 0.326
64 |SI. . XA G GRRROT AT et gex Qs [261 0.836
65 | Tgol= =M1 U7 SRR M et gex ueQs! 262 0.525
66 | Tgol< X! T BIRRROT A Ryct 4ex ylews! 263 0.094
67 |3FRIAE dIFR G i HNIG dIFR et g ureds!  [264 0.042
68 |3FRIAE dIFR G i HNIG dIFR et g yreds!  [265/1 0.313
69 |(RMED) T AR yreds!  [265/2 1.3590
70 |TIRM UF HRIRM Rt 9 yreds!  [266/1 1.008
71 |TIRM UF HRIRM Rt 9 yreds!  [266/2/2

72 | 3FRIE dIFR G b HRNIG dIFR Rt 9 Hlews!  [267 0.33

73 |AIRM T3 9H1 Rt IR Hreds!  [268/1 0.405
74 |ITSIRM G He Rict ¥ex yieds!  [268/2

75 |SFRIE dFR UF BlIbHNG dFR Ryct §ex HIeEs! 269 0.084
76 |SRINE dFR UF BlIbHNG dFR Ryct §ex HIems! 270 0.345
77 |S1. . XA GF RRROT AT et gex yewar 271 0.4967
78 |(RMED) T AR yreds!  [278 0.0385
79 [TIRM UF dal Rict ¥ex HIeEs! 289 0.6182
80 |TIRT UF Hhal Rict ¥ex HreEs! 290 0.439
81 XMed TF $ad Rict ¥ex HleEs! 291 0.32

82 [XMed JF $ad Rict ¥ex HleEs! 292 0.1056
83 |=URTE YA BRI Rt IR HIe@s! (336 0.0496
84 |dRUTARIE T 3[RRAG et gex yregs! 337 0.2515
85 |dRUTANG U ARG Ryct §ex Hrews! 338 0.0154
86 |(RTIPH) e yreds!  [339 0.0940
87 |(RmIP ) R 9 Hrewst (340 0.0210
88 | SR8 U IHATd Ryt Y3 HIems! (3411 0.31

89 |HHId RMdTGdl Udl 3dRI¥g et ge= yreds!  [341/2

90 |3f=11eh HHR T[T G HAT AT el R 9 Hrewst (345 0.1268
91 |SFTGIIE TUd U7 3R, 3MR. IUd Ryt Y HIeEs! (347 0.3466
92 (IR ) R IR Hrewst (348 0.0210
93 |THTHIRIE T X1 Ryt Y HIeEs! 349 0.679
94 |T=pTdT TYUT Uedll AGHUT G YT Ryt Y Hrewst (350 0.157
95 |TpIdT TYUT Uell AGHUT G YT Ryt Y Hrewst  |351 0.073
96 |TpIdT TYUT Uell AGHUT G YT Ryt Y Hrewst  [352/1/1 0.23

97 [TRTAU Rig U7 URA1G] Rict ¥R HIeEs!  [352/1/2 0.24

98 |UHTIRIE T X1 Ryt Y HIems!  [352/2 0.345
99 [TRTU Rig U7 URAG] Rict ¥R yreds!  [353/1 0.01

100 |[T-sEepTdl JUT Uedl T&IHUT G- FUT Ryt Yex yreds!  [353/2 0.387
101 [ARTO1 g UF lRATG] Ryt Y yreds!  [353/3 0.491
102 |(RTPI) Ryt Y Hrewst (354 0.1990
103 |(RTPI) Ryt Y Hrewst (355 0.0100
104 [XTTRYE Udl TY. 3R, g Rt ¥R Yrews! 356 0.366
105 |(RMPI) Ryt Y Hrewst  [357 0.1570




106 | (RMFDT) Rt 9 Ylews! 358 0.0100
107 |(RMEDT) Rt = Yreds!  [359 0.1

108 |(RMFDT) Rt 9= Hlews!  [462 0.02
109 [XWTRE Udl TY. 3R. Rg et gex yews!  [463/1 0.064
110 [XTTRE Jdl TY. 3R. Rg et g UIC™ST  [463/2 0.291
111 [TsohTdl JUT Uedl T&HUT G- I9T Ryt v Hews!  [464/1 0.073
112 [ART1 g UF iRATe] Rict I3 yiems!  [464/2 0.063
113 | 3RN HHR Tl G HAT AT Il Rt 9 yreds!  [465/1 0.2078
114 | 3=M HHR Tl G HAT AT Il Rt 9= Yredst  |465/2

115 [TsohTdl JUT Uedl T&HUT G- I9T Ryt Hex Yredst  |465/3

116 | (RTAD ) T AR gag |1 0.0450
117 |99 18 U3 JdRM Ryt §ex oI |7 0.46
118 [IRATARTE, AT Rg G RIS Ryt §ex BT [8 1.475
119 |U¥ 18 U7 JdRM Ryct 4ex g |9 0.146
120 [THEET, T YA (9o Rig Rt T g [10 0.0794
121 | (D) Rt 9 g |11 0.3240
122 [RTA98H, Y1 U7 19 g Ryt §ex gaIgR  [12 0.434
123 [HaRM, 8 U7 AU Rict ¥ex BT [16 0.0572
124 | IR 8 T IHTTG Rt 9 galgRr |17 0.052
125 |HaRM™, g U7 IHYATG Rict ¥R BRI [18 0.471
126 [HaRM, 8H UF YA Rict ¥R g [19 0.27
127 |gh =T, UdTURIE Y 3fedRA Ryct 4ex AR (21 0.163
128 [RTHAR UA Tarerel Rt 9 gag |22 0.0039
129 [RTHERUT O Hier] Rict ¥? IR [69 0.083
130 |[ITHEROT G AT Rict ¥ex IR [70 0.03
131 |[JTHEROT O AT Ryct §ex oI |71 0.279
132 |ATea5 93 YR Ryct §ex gaIgR |72 0.174
133 |Uold R¥g A §IdH Rig Rt IR gaRI |73 0.24
134 | (RMEDIT) Rt 9 gag |74 0.3030
135 [IMAR 97 Terard Rict ¥ex BRI [75 0.167
136 | (RMED ) Rt IR gaIgR1 |76 0.301
137 | (TP ) Rt 9 gl |77 0.0520
138 | (RMEDIT) Rt IR gaIgRr |78 0.564
139 |(RMAD ) Rt IR gaIgR |79 0.188
140 |(TAD ) Rt 9 gaIg (80 0.031
141 |UoTg R¥g A §IdH Rg Ryct §ex galgRT (81 0.105
142 [IMAR 97 Terard Ryct §ex gaIgR (82 0.648
143 [RTMAR g7 TaIdd Ryt Y BT [83/1 0.826
144 | Fh R G Sgd=A Ryct §ex gaIgRT (84 0.167
145 | ’¥g g7 919 ¥ Rt ¥” IR [85 0.031
146 |UoTd R¥g G gIdH Rig Ryt Y gaIg (86 0.189
147 |USId R¥g G gIdH Rg Ryt Y3 galgyr (87 0.251
148 |ARGIRTE UF H1d RIg Ryt Y galgRT  [88/1 0.2091
149 |ARGIRTE UF 14 RIg Ryt Y galgRT  [88/2 0.0519
150 [IFdP T UTdRH Ryt Y gaIgy (89 1.149
151 [IMAR 97 Terard R IR gagr (90 0.0652
152 [RMARTE GF JIIRMH Ryt Y AR [102/1 0.545
153 | TRt i1 93l heH Rig Ryt Y gOIgRT  [102/2

154 [THEET, YT YA (9o ’ig Rt = g [103/1 0.1586
155 [THYET, T YA [dorT Rig Rt = g [103/2

156 [IHAR GF erard Ryt Y g [104 0.1042
157 |9=a1 18 U7 Weiid Rig R IR galgRr  [105/1 0.0385
158 [ITHERUT U eI Rict ¥R BRI [105/2

159 | 3THYDIRT U Bid 1Kl Rt Je? T [105/3

160 [CTRGIRIE UA O7Td 1Rg Rt ¥R g [106 0.136
161 [IHATY O TSR Ryt ¥ g [107 0.0927
162 [IHATY G ToMER Ryt ¥ gHRT  [108 0.146
163 [IHUETG G R Ryt ¥ g [109 0.042
164 [T, HHAR UF o 195 Rt ¥R g [110 0.021




165 [T, HHAR YF e 198 Ryct Hex 1101 0.01
166 [JaRTH, G U7 JHYATG Rict I3 1111 0.0379
167 [HDITg Jdl AR 8 Rt 9= 111/2

168 [IHDIETg Jdl ARV 8 Rt 9= 112 0.0785
169 | TR, HHAY UF X 198 Ryct Hex 11311 0.491
170 [T, HHAAY YF X 198 Ryt v 113/2 0.481
171 | P ARG, QAR T 3IST Ryct Hex 114 0.482
172 |ATCIpaR G HIcHT IH Rt 9 115 0.376
173 |T[ATSg U TR0 Ryct Hex 116 0.073
174 [T G 7T Ryt Hex 117 0.449
175 [THRT U7 gATand Ryct Hex 118 0.167
176 [JaR™, G U7 IHYATG Rict ¥ex 119 0.105
177 |, HHAY U7 g 1’5 Rt 9 120 0.146
178 |11, GR Y §IRIBRA Ryct 4ex 121 0.24
179 [YMAR 97 Terard Ryct 4ex 122 0.115
180 I8N, WYX U7 19 g Rt 9 123 0.146
181 | (MAD) T AR 124 0.021
182 | (MDA T AR 125 0.021
183 |8 H, WYX U7 199 g Rt 9 126 0.094
184 [IHS(AAR T UTARTH Ryct 4ex 127 0.105
185 |G TF HITGHATd Rt 9 128/1/1 0.057
186 |G TF YA Rt 9 128/1/2 0.028
187 |G TF HIGHATA Rt 9 128/1/3 0.082
188 [UhTRT UF WA Ryt §ex 128/2 0178
189 [JTETH T UF IHGATA Rt 9 129 0.157
190 | (M) Rict ¥ex 130 0.021
191 |STAFTRTI0N U IMHSATA Ryct §ex 131/1 0.23
192 |BIc ATd 7 IHSATA Rt IR 131/2 0.23
193 |STAFTRTIUN U IMHSATA Ryct §ex 132 0.052
194 |STOFTRTIUN U IMHATA Ryct §ex 133/1 0.979
195 [TUTH T UF IHSATA Rt IR 133/2

196 [IIAPHAR T HATRHRII Rt 9 133/3

197 |BIC ATd 7 IHSATA Rt IR 133/4

198 |UhTRT UF WA Ryct §ex 133/5

199 | IR TF HIGHATA Rt 9 133/6

200 |[USTTd 1’8 U4 BIdH g Rt IR 134 0.0683
201 |[USTd 1’8 U4 BIdH g Rt IR 135/1 0133
202 |USTd 1’8 U4 gIdH g Ryct §ex 135/2

203 [RTHI8H™, YT U7 19 g Ryct §ex 136/1/1 0125
204 [STAdRIE PR UF JAHFDW[ Ha Ryt ¥ 136/1/2

205 [RTAYEH, X1 U7 faoid Rig R 9 136/2

206 |(RTIP) Rict ¥x 137 0.0310
207 |RTAHEH, X1 UH favid Rig R IR 138/1 0.0528
208 [RTHIEH, YT U7 19w g R 9 138/2

209 |(RMED) e 144 0.0462
210 | (R ) R dR 145 0.0420
211 |TRTel, 71 gl heH g R 9 146/1 0.105
212 [IMRIE 93 HIRH Ryt Y 146/2 0.115
213 | (R ) R dR 147 0.3240
214 |(RMMED) e 148 0.3140
215 |[d13. &. WsddId Ryt Y 149/1 0.3965
216 |TRTl1, 7111 Gl heH g R IR 149/2

217 |19 Rig G AIdRM R 9 150 0.0705
218 |dRG-IRIE U7 771 g R 9 151 0.044
219 [dT8. . Wsddrd Rict ¥R 152 0.0778
220 |[goh=T I 3ifgaRA Ryt Y 153 0.0523
221 |ARaIRIg O HITd IR¥g Ryt Y 154 0.003
222 |TTIRT W1 T TTeleR RERSES 181/1/1 0.6358
223 |[UIR1, Ao g I UIdH i Ryt Y 181/1/2




224 |ATAIRTE G JHTRA Ryct Hex 181/2/1

225 [ITASITET U IHERA Ryt Hex 181/2/2

226 |(RMED) T AR 182 0.1250
227 [RHAR G Terard Rt Y 183 0.063
228 |[goh=T U 3fedRA Ryct Hex 184 0.523
229 [YMAR 97 Terard Rt 9 185/1 0.261
230 [IMAR 97 Terard Rt 9 186 0.5289
231 |(RMED) T AR 189 0.0900
232 | (R ) T AR 190 0.9050
233 |(RMED) T AR 191 0.1116
234 | (D) Rt 9= 193 0.0074
235 |(RMED ) T AR 194 1.2821
236 |(RMED) Rt 9 195 0.0840
237 | (D) T AR 196 0.2190
238 | (R ) T AR 197 0.0940
239 | (R ) T AR 198 0.2190
240 |RTHSITATS U HRA Rt 9 199/1 0.021
241 | HITaTT e, He =T G eH Rt 9 199/2 0.293
242 |4H=, IHT §F $%dR Rt IR 200/1/1/1 1.1153
243 | 4F= M §F $%dR Ryt ¥z 200/1/1/2

244 | TR ISP AR T S%dR Rg RERSES 200/1/2

245 | 4F= M §F $%dR Ryt ¥z 200/1/3

246 & dR 200/2/1

247 |STQRE G IMHERA RERSES 200/3/1

248 |gTIb ARG T HRA Rt ¥ 200/3/2

249 |(TIP) Rt 9= 201 0.998
250 [JTeTH ST UF AT Ryt ¥z 203/1/1 0.185
251 |SIOARIIUN U3 IHSATA Ryt 4 203/1/2

252 | TGS, He R U TGalld Ryt 4 203/2

253 | (M) R AR 204 0.0310
254 |YTTAHATE, He R I Fe™ Rt ¥R 205 0.209
255 [AdR, ARG U deHNg Ryt 4 206 0.3015
256 [STT9AT Tdl HeR1H RERSES 207 0.711
257 | (M) R AR 208 0.0940
258 | (M) R AR 209 0.0420
259 |(RMEDI) R AR 210 1.0760
260 |TRra, i1 931 eH Rig A = 211/1 0.8285
261 | (D) et d9ex 211/2

262 | (D) R AR 212 0.1460
263 | (D) AR 213 0.0210
264 | (D) AR 107 0.01
265 |(RMED) A AR 109 0.0486
266 |(RMED) A AR 110 0.6217
267 | (D) A AR 111 0.3470
268 (TP ) Rt = 112/1 0.3970
269 [TdTedl Ul Bt Rig et dex 112/2

270 | (D) A AR 113 0.0598
271 | (RIS ) Rt = 114/1 1.3690
272 |Tiidrdal €l SH g Rt = 114/2 0.261
273 | (TP ) Rt = 114/3 0.0630
274 [AYSTIRE U3 HRIRM g Ryt 4ex 115 0.387
275 [TidTGdl Ual S Rig R AR 116 0.334
276 | (D) A AR 117 0.4037
277 | (TR ) AR 118 0.1869
278 [SFATGAl Udl HITAHG Ryt v 119 0.0551
279 [3RId~< 3{UdTd Y= HWI MUTd Ryt v 121/1 0.0345
280 |3RId~< 3{UaTd Y= HWI MUTd Ryt v 121/2

281 [3RId~< 3{UdTd Y= HWI MUTd Ryt v 121/3

282 [SFATGAl Udl HITAHIG Ryt v 136/1 0.0428




283 |[PERINE T IHHRN Ryct Hex AR [136/2

284 | (TP) Rt 9 SR [137 0.1250
285 |(RMED) T AR SR [138 0.1570
286 |(RMED) T AR SR [139/1 0.2090
287 |3RId~< 3{UaTd Y= HWI MUTd Ryct Hex SR [139/2 0.031
288 |HB X WG U7 HAT A1 HRgIS Rt 9 SR [139/3 0.021
289 |(JTP) Rt 9 SR [140 0.1250
290 |(RMED) T AR SR [141 0.0630
291 [HeR1 HRglS JA AT dled WRglsl Ryct Hex AR [142 0.637
292 | (TP 1) Rt 9= SR [143/1 0.5120
293 |3RId~< 3{UaTd Y= HWI MUT Ryct Hex AR [143/2 05
294 | YRGS U7 H41 A1 WG Rt 9 SR [143/3 0.104
295 |T1doT 98TGR G §HH Rig Rt 9 SR [143/4 0.105
296 [TTdTCdl Ul i Rig Ryct 4ex AR [143/5 0.021
297 |(RMED) T AR SR [143/6 0.0940
298 |(RME) T AR SR [144 0.0832
299 | (R ) T AR AR [145 0.1681
300 |[HE R YRGS U7 H41 A1 HRgIS Rt 9 SR [146 0.0382
301 |[HE X YRGS U7 H41 A1 WG Rt 9 SR [147 0.0433
302 |(RMED) T AR SR [199 0.2149
303 |(RMEDI) T AR SR [203 0.0115
304 |(RMED) T AR SR [204 0.5750
305 |(RMED) T AR SR [205 0.8051
306 |(RMED) T AR SR [206 3.1870
307 |(RMED) T AR SR [207 0.3071
308 |(RMEDI) T AR SR [209/1 0.1633
309 [¥a1 G AMRT Rt IR SR [209/2

310 |(RMED) T AR SR [209/3

311 |(RMMED ) T AR SR [209/4

312 | (R ) T AR SR [209/5

313 | (R ) T AR SR [351 0.3970
314 |(RMED) T AR SR [352 0.0870
315 |(RMMED) T AR SR [353 0.4700
316 |(RMED) T AR SR [354 0.0730
317 | (R ) T AR SR [355 1.2187
318 | (R ) T AR SR [356 0.3083
319 | (R ) T AR SR [357 0.1905
320 |(RMED) T AR SR [358 0.1327
321 | (R ) T AR SR [359 0.0754
322 | (R ) Rt 9 SR [360 1.2120
323 |TT=Id RIg JF ®gRig R 9 SR [361/1 0.7457
324 e SR [361/2

325 R IR SR [362/1

326 |(RMED) e SR [362/2/2 0.1010
327 | (R ) e SR [364/1 0.0050
328 |(RMED) R dR SR [364/2 0.0100
329 |(RMED) e SR [365/1 0.1471
330 |(RMED) e SR [365/2

331 |(RMED) R dR SR [366 2.4040
332 |(RMED) e SR [367 3.9984
333 | (R ) e SR [368 0.5359
334 | (TP ) R IR e |7 0.0204
335 |(TIP ) e ETE 0.0210
336 |(RMED) AR e |9 0.1137
337 [TMide wr g of. T, T RERSES e 114 0.293
338 [TMide 7ean G of. T, T Ryt ¥ e (1172 1.46
339 | (M 1Y) Ryt Y e 12 0.2600
340 [TMide ear g of. Y. T RERSES e 134 0.01
341 [TMide 7ear g of. Y. T RERSES e (132 0.345




342 | (RMFH1Y) Ryct Hex e |14 1.7970
343 | (A1) Ryt Hex e |15 1.7030
344 | (A1) Ryct Hex e |16 0.0140
345 |IIIRI WsddTd Y Higdd W Scdidd Rt dex EGIEN| 17 0.084
346 | (RMFH1Y) Ryct Hex e |18 0.1990
347 |IFIRI Wsddlid Y HigdTd W Scdidd Rt dex EGIEN| 19 0.314
348 | (A1) Ryct Hex e 20 0.0520
349 |(RMHH1Y) Ryt Hex e 21 1.2000
350 | (XM 1Y) Ryct Hex e 22 1.8180
351 | (R 1Y) Ryt Hex e 23 0.4180
352 |R15ig /8 G Tl | Rt 9= ST 241 0.836
353 | 3RId~< 3{UaTd Y= HWI MUTd Ryt §ex e (2472 0.418
354 |(RMED) T AR e |25 0.7110
355 |3RId~< 3{UaTd Y= HWI MUTd Ryct 4ex e (26 0.209
356 |(RMED) T AR e |27 0.0420
357 |(RMMED) T AR ETE 0.1570
358 |[purct Rig G IHed Rt 9 e 29 0.408
359 |[purdt Rig G IHed Rt 9 e 30 0.146
360 | (RMFH1Y) Ryt §ex EIEL 0.0730
361 |(RMED) T AR e (32 0.1150
362 [IMed U7 99 g Ryct 4ex e (334 1.265
363 |TsIoi=T RMHT G TIaRTH AT Ryct 4ex e (332 0.47
364 |PUTA {8 T IHed Ryt §ex e (344 1.7022
365 |TsIoi=T RMAT G TIaRTH AT Ryt §ex TS [34/2

366 |RMHed U 314 g Rt 9 e [35/1/1 0.165
367 |TSToI=T RAT G Ui AT Rt 9 e [35/1/2 0.575
368 | T UF Tqw] U1 T Ryct §ex e [35/1/3 0.41
369 | T U7 Tqw] U1 T Ryct §ex T [35/2/1 0.37
370 |TSToI=1 RAT GF Ui T Rt 9 e [35/2/2 0.559
371 [0 T g7 1qw] U T Rt IR e [35/2/3 0.189
372 [T d S1YyaT G Ui, i, Sreyar Ryct §ex e [36/1 0.188
373 [JMTed S1¢yaT g Ui, i, Srear Ryct §ex e [36/2 0.178
374 |HRIT Rig 97 §HR R Rt IR R SEA 0.021
375 [T d S1¢yaT G Ul i, Srear Ryct §ex e (3772 0.742
376 [Jd SO T TRUT T S Ryct §ex e [37/3 0.094
377 |90 T U7 1qw] UG T Ryct §ex e [37/4 0.366
378 |GRpT U= &I Ryct §ex e [37/5 0.063
379 [J1d 99 T TRUT T S Ryct §ex e 38/ 0.272
380 |gReT U A&HUI Ryct §ex e [38/2 0.303
381 [JMTed S1¢/aT G Ul i, Srear Rict ¥ex e (39 0.042
382 | 4RI I8 I gHR Rig Rt = TS [40/1 0.732
383 |PIwIIg U7 gHR g Rt 9 e 4072 0.794
384 |(RMED) R dR e |41 0.4810
385 [URAd! €15 Udl R0 g Rict ¥R e [42/1/11 0.005
386 |TRAd! S5 el HRUT Rig Ryt Y e [42/1/1/2 0.005
387 |TTssR Rig UF &= g R IR e [42/1/2 0.617
388 | IRST YhTRT U U] UBIR R 9 AT [42/2/1 07
389 [Sild < & Y dgUhIRI Il Ryt Y e [42/2/2 07
390 |F=rdT O TRAT R IR e [42/2/3 0.169
391 [GaTeTg Gl Bal Ryt Y e [42/2/4 0.17
392 | (R ) e e |43 0.1570
393 [JMTed S1eyaT g Ui, i, Srear Ryt Y e (4441 0.1113
394 [JMTed S1¢yaT g Ui, i, Srear Ryt Y e (4472

395 [JMTed STe/aT G Ui, i, srear Ryt Yex e |52 0.0417
396 [JMTed STeyaT G Ui, i, Srear Ryt ¥ e |53 0.3339
397 | () Rt ¥R e [53/2

398 [JMTed STeyaT G Ui, i, Srear Ryt Y STE 0.115
399 [JMTed ST¢yaT g Ui, i, Srear Ryt ¥ e [55/1 0.24
400 |(RTER ) Rt ¥R e [55/2 0.209




401 |(RTIPIY) Rict I3 e [56 0.0660
402 [JMTed S14yaT G Ui, i, Srear Ryt Hex e |57 0.1446
403 |(RMIPIY) Rict I3 e [68/1 0.9223
404 [JMTed STYaT G Ul i, Srear Ryct Hex S [68/2/1

405 [JMTed STYaT G Ui, i, Srear Ryct Hex TS [68/2/2

406 [JMTed STeaT G Ul i, Srefar Ryt v e [68/2/3

407 |(RTIP1Y) Rict I3 e (69 0.3140
408 [T201 7RIS G 3= T Rt 9 e 704 0.627
409 | 3M=1Te TS G gRRIBR T Ryct Hex e [70/2/1 0.345
410 | 3M=11p TS G gRRIBR T Ryt Hex e [70/2/2 0.209
411 | 3M=11p TS G gRRIBR T Ryct Hex e [70/2/3 0.596
412 | 3M=11 TS G BRRIBR T Ryt §ex e [70/2/4 0.209
413 | 3M=11 TS G gRRIBR T Ryt §ex e [70/2/5 0.167
414 | SR T gell 1T il RERE e [70/3 0.209
415 |(RMED) T AR e |71 0.2090
416 | (D) T AR e |72 0.0100
417 | (D) T AR e |73 0.0420
418 [ G HHA PHAR Ryt §ex e |74/ 0.177
419 [FITd =51 gl IS =gT Ryt §ex e 742111 0.0279
P ESERECREER Ryct 4ex e [74/2/1/2 0.2021
421 |29 THUd U7 TH. 3R, U Ryct 4ex e [74/2/211 0.0278
422 |29 THUd U7 TY. 3R, Y Ryct 4ex e [74/2/2/2 0.1712
423 [URTdI T3 Ul BRUT 8 Rt IR e [75/1/1 0.418
424 | TR0 TS G 3{TD T Ryt §ex e [75/1/2 0.0209
425 |0 TS G 3{=ITh T Ryt 4ex e [75/2 07
426 |(RMED) T AR e |76 0.5850
427 | Aig A el U YHIA Tlol Rt IR e |77 1.599
428 |t I8 JF &Aid Rig Rt IR e |78/ 0.418
429 |al TRIagR G RIS A1 Ryct §ex e [78/2 0.392
430 [Sild= 18 G TUIRI R Rt = e [78/3/1 0.04
431 [Sild=< 18 G TUIRIR g Rt = e [78/3/2 0.163
432 [Sild< 18 g7 TR R Rt Je? e [78/3/3 0.293
433 | 3RId= 3UATd G ST MUTc Rt IR e |79 0.763
434 | (RMED) T AR e (80 0.0630
435 XY JF A g Ryct §ex e (811 0.77
436 |3RId~< 3{UATd Y HWI MUT Ryct §ex e [81/2 0.066
437 |0 TS G 3{11h T Ryct §ex e [82/1/1 0.23
438 [PRIS O T qlUD ui- Rict ¥” T [82/1/2 0.209
439 |[T201 TR G =01 T Rt IR e [82/1/3 0.209
440 [IMYER JF A g Ryt Yex S [82/2/1 0.365
441 | TR0 TS G 3{ITh T Ryt Y TS [82/2/2 0.261
442 |Slid~= g AU Rt 9 e (831 0.303
443 |T201 T G (=0T T R IR e [83/2/1 0.063
444 [SiId< JF deUBIR Ryt Y TS [83/2/2 0.24
445 |ITHAT IR Tedll YRUT Tz G=IA R 9 e [83/3/1 0.439
446 |Slid~= g AU R IR e [83/3/2 0.084
447 | (RMED) e e (84 0.0420
448 | (RMED) e EITNES 0.2930
449 |(RMMED) R dR EITNER 21210
450 [PRI S T qIUb G- Rt ¥R e 87 0.523
451 |(RMED) e IEITNEE 1.1580
452 |(TIP1Y) Rict ¥R e (90 0.0198
453 | TR0 TS G 3{Th T Ryt Y e (914 0.332
454 |T201 TR G (=0T T R 9 e 9172

455 |21 TS G 3MRM M Rt ¥R e [92/1 0.157
456 |21 TS G 3MRM M Rt ¥R e [92/2 0.418
457 |21 TS G 3R T RERREN e [93/1 0.3573
458 [IMYeR JF PeH R Rt ¥R e (932

459 [ eR U3 PeH R Rt ¥R e [94/1/1 0.241




460 |3RId~< 3{UaTd Y= HWT MUT Ryct Hex TS [94/1/2 0.804
461 [YMYER JF A g Ryt Hex S [94/2 0.366
462 |0 TS G 31D T Ryct Hex e [95/1/1 0.3611
463 [YHYR JJ PpeH g Rict ¥R e [95/1/2

464 [3RId~< 3{UATd Y= HWT YT Ryct Hex e [95/2

465 |0 TS G 3D T Ryt v e [96/1/1 0.4745
466 [YHYR JJ peH g Rict ¥? e [96/1/2

467 [3RId~< 3{UaTd Y= HWT MUT Ryt Hex e [96/2

468 [YHYR JJ peH g Rict ¥e= e [97/1 2.096
469 |3RId~< 3{UaTd Y= HWI MUT Ryt Hex e [97/2

470 [YHYeR Y3 PeH g Rict ¥R IEIEE 0.4486
471 | (RMFH1Y) Ryt §ex T[99 0.6480
472 | (TP ) Rt 9 e 101 0.2072
473 [Siid—= g 9 TURiaR R Ryct 4ex e [102/1 0.9292
474 [Slid—= g 7 TURIAR R Ryct 4ex e [102/2

475 |99 Rig I3 ARG Rig Rict ¥? e [103 0.334
476 |5l g U o1 Kig Rict ¥? e [104 0.941
477 | (RMH1Y) Ryt §ex e [105 0.5230
478 [15i%; ¥ g7 919 K8 R ex @ |106/1 0.888
479 |99 Rig I3 ARG Rig Rict ¥? e [106/2 0.418
480 |TAIRTH g HTFHRS Rt 9 e [107 0.596
481 |99 Rig I ARG Rig Rict ¥? e [108/1/1 0.7854
482 |3RId~< 3{UaTd Y HWI MUT Ryt §ex e [108/1/2

483 | 3RId~< 3{UaTd Y= HWI MUT Ryt §ex e [108/2/1

484 [15ig g g7 919 K8 R ex T [108/2/2

485 |G G TRIAT Ryt Y e [110/4 0.438
486 |19 S8 Tdl |41 IH Rict ¥x e [110/2 0.418
487 |91 Y8 I SHRIG Rig Rl IR e [11d 0.178
488 |GRITQT <al Ul I8 Ryct §ex e [112/1 0.329
489 |01 TS T 3{I1h T Ryct §ex e [112/2 0.329
490 |(TIP) Rt IR e [112/3 0.2720
491 |(RMED) T AR e 113 0.0730
492 |(RMFH 1Y) Ryct §ex e [116 0.0550
493 |(RMED) T AR e (117 0.0520
494 |(RMED) T AR EITNEE 0.1050
495 |TR/d g Hal IH Rt IR e [119 0.5395
496 [ISTTSICT Udl YRS Rt IR e [120 0.3386
497 | (JTIP) Rt 9 e [121 0.0420
498 [t g U7 qdid g Rict ¥x e [122/1 0.0901
499 |(RMED) e [ (12272

500 |HgdIe Rig §F W Rig R 9 e [126/1 0.01
501 |(RTIP) Rt 9 e [126/2

502 |[purct Rig G IWed R IR e (127 0.2055
503 [YYAR [¥ig U W Rig Ryt Y e [128/1 0.2707
504 |(RTIP) R 9 A [128/2

505 |[TTId R8O fa=iat Rig R IR e [234/1 0.9682
506 |XT1 Udl = el Ryt Y e [234/2/3

507 |X@T1 Udl = el R 9 AT [234/2/4

508 | (M) R dR T EE

509 [XT1 Udl = el Ryt Y AT [234/2/15

510 |(RMED) e M [234/2/16

511 |STHT 9=1d Ul TRUT I a=Iad R IR AT [234/3/1

512 |[dal GF BRI Rt ¥R e [234/3/2

513 |STHT 9=1d Uil TRUT I =TT R 9 AT [234/4/1/1

514 [ITHQT 9= Tel URUT Iz 9=IA Ryt Y e [234/4/1/2

515 [T 3FIATd Uell Folld AT Ryt Y IS [234/4/2

516 |TTrd g O Ta=me g Ryt Y AT [234/4/4

517 | (R 1) Ryt Y e [234/4/7

518 [TSU1 TS G R0 I RERSES e [234/4/8




[510 [RIe 97 =0 3 FHEE wilan__ [234/4/9
520 |soAdl 921 31 Re il e A [234/4/10
521 |90 9= a4d U3 muinl] &re €9d fydl #fed T 234/4/11
522 |l Tl Tedl 5 DHIR ¥yt wex T 234/4/12
523 |(@nEHI) f&dl #ex Ll 234/4/14
524 [T UTUSY U3 AAXEEY sy 7] ded A 2351 0.418
525 |afda Sroara J3 1. 91, A Frdt dee aHtan 2350211 1,082
526 |aAdd SATard 43 SR, HI, SFEre] et 32 e (2357212 0.172
507 |2 DR UJ 4g] Uare, 1l f&e] Gex T [235/3 0.105
526 |00 Tidd g Sl 1ad fael Hex T |236/1 0.8825
529 |GH qF el Ridl ¥ex T |236/2
530 | T HHIR il UF 1 95 Tl el dex Fd (123711 0.1434
541 |Hed 4a Hidl 19 fadt Hex At [128/1/2
532 |aRm g3 Ml f&dl Aex TR [123/2 0.0377
533 | U3 e fidl Hex Al 124 031
534 [HIGTTH YA DX Ryt ez A [125/1 0.021
535 |RIaRTA Q2 M1 f&d] fex A |125/2 0.01
536 |Aeaide 4d 94 qdid K A [126/1 0.021
537 AR A S19H fiel dex el [126/2 0.031
538 e 1¥8 9 ol ¥ fEd] Hex FAna  [126/3 0.031
539 |91 OF TR f&ret dfex Sl [126/4 0.021
540 | #edidig A I eIl ferd] Hex e {127/ 0.021
547 |HiaTH G e el e st (1272 0.021
542 |(ETHR1Y) frdt e Fefdt 130 0.0100
543 |19 B1d Ud H201% Rig H1ea feret Hex i [131 0.136
544 |Gl e OF fRraare e K A (132 0.094
545 |Hia @1 U {2/ e dd a1 Weq e (1331 0.052
546 |9 BIvd U A9 146 Hied feref Fet AR |133/2 0,062
547 | (RIS TY) e ¥fex A (134 0.4686
546 |G T O 13raare e 2] dex Aafa (136 0.261
540 [ATel e G2 Sraere Faet dex A [136 0.324
550 |ATel e U e el fedl dex Fafd (137 0,073
551 |1 T4 94 Aiar a9 f2re dee Tt |136/1 0.021
557 [Tk 43 B aH et 3fez s [136/2 0.01
553 | AGaTeig A 39 qard férel dez A |136/3 0,01
554 (W&W &l ez el (189 0.0630
555 | GATet Ten O i et dfex et (14071 0.214
556 | e 147G U7 el GRrdrg] i fee il (14072
557 [ASHATE ALl A IA2I dg il fodl dfe i [142/1 0.2508
555 |AId7 AT Tl A T8l g 1l fed] e e |142/2
569 ﬁm%%wrm fdidles | saimdl (143 0.01
&5 el e 14471 02229
561 [AABHIT 079 g 1l T4 3ez (14472
562 |TSABHIT T A 1]t el ¥y e (14473
563 7 i ¥fed A (145 0.0998
564 %] 3] #feq s 146 c.n-ug
146,
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